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1 The Surface Area of Pyramids

1.1 How do we determine the Total Surface Area of a Pyramid? f‘? Ve ff/(
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1.2 How do we determine the Lateral Area of a Pyramid?

Let’s consider the net of a pyramid again. How would we go about determining the lateral area?
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1.3.2 Practice: This time Robin wants to be
thrifty when making his tent model, so he
reduces the dimensions of the square
pyramid as shown below. He buys 3.5 bags
of plastic wrap and 2 highlighters. If each
bag contains 9cm? of plastic, will he have
enough to make his tent model?

4 cm

3 cm

3cm
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1.3.3 Example: An architect buys 2 packs of |
hingles t th f of th del of :
shingles to use on the roof of the model of a @LO\‘E{(W

friangular pyramid with the dimensions indicated B s o e 2 Iq,‘olc
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1.3.4 Practice: The architect makes a
different model of a triangular pyramid and
wants to protect it with a waterproof tarp. He
will use half a té?;measures 700mm?
and that costs $2. Will he have enough to
cover the pyramid?
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Firding The Velume avd Comverting

P.2.1 Example: Find the volume of the following
pyramid. Give final answer is dL.
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2.2.2 Practice: Find the volume of the

following pyramid. Give the final answer in \A -
cL. ’
. WS <
E"‘ 2 T
11 cm P lew n o+ b = C
PR =0 g
p RS
5 3 cm -
cm _



mth-3053 - lesson 10.notebook April 10, 2024

2.2.3 Practice
Find the volume of the following pyramid. Give
the final answer in mL.
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2.2.4 Practice

Calculate the volume of a pyramid whose
height is 17 cm and whose base is the regular
hexagon as shown below. How much water
(in L) could this pyramid contain?

3.4cm
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Exit Ticket:
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3.1.2 Practice: Robin decides to make a thriftier
tent still in the shape of a square pyramid with A/\ o ¥ w o
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3.1.3 Example: The architect is now making
the actual triangular pyramid whose roof he
will shingle with 3.5 bags of shingles. The total
surface area of the pyramid is 96.588m?2. Each
bag covers 25m? and contains 28 shingles. If
the apothem of the pyramid is 9 m and the
height of the base is 3V3m (or 5.196m), will
the 3.5 bags be enough to shingle the roof?
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